
FOLDING VINYL CURTAIN, MODEL VD1206-1923 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

The AVW FOLDING VINYL DOOR  is constructed of high grade stainless steel. The 
Curtain is used to contain the hot air inside of the tunnel and keep the cold air out.  

Also a excellent wind barrier. 

ENTRANCE 

• Three track design 
• Round top bars 
• Curved trolleys for stability 
• PVC (polyvinyl chloride) curtain 
• Pneumatic controlled 
• Available in “Roll-Up” Door 



A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

153’’ 

108’’ 

76-1/2’’ 

CONVEYOR 

EXIT 

TUNNEL 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 

SPACE REQUIREMENTS 



A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 

1 

2 

3 

4 
5 

6 
7 

8 

9 

10 

ITEM Description 

1 TOP BAR ASSEMBLY 

2 DRIVER SIDE END ARM 

3 DRIVER SIDE MIDDLE ARM 

4 PASSENGER SIDE MIDDLE ARM 

5 PASSENGER SIDE END ARM 

6 TROLLEY ASSEMBLY 

7 AIR CYLINDER SET 

8 SHOCK ABSORBER SET 

9 LEGS for FOLDING VINYL CURTAIN DOOR  

10 
10a 
10b 

 

UHMW ANGLE w/CLOTH 
  VINYL CURTAIN 36”Wx92” lg x 120” Thick, Clear 
  VINYL CURTAIN ”Wx92” lg x 120” Thick, Clear 
VINYL (POLYVINYLCLORIDE) 

10a 

10b 



A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

TOP BAR  ASSEMBLY-PARTS 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 

PASSENGER SIDE DRIVER SIDE 

2. DRIVER 
 END ARM 

4. PASSENGER 
 MIDDLE ARM 

3. DRIVER  
MIDDLE 

ARM 

5. PASSENGER 
    END ARM 

3a. CONNECTING 
 MIDDLE ARM 

5a. CONNECTING 
END ARM 

FRONT 

4a. CONNECTING 
 MIDDLE ARM 

FRONT 2a. CONNECTING 
END ARM-FRONT 

 2b. CONNECTING 
 END ARM-BACK 

3.b CONNECTING 
  MIDDLE ARM 
   BACK SIDE 

4b. CONNECTING 
  MIDDLE ARM 

BACK SIDE 

5b. CONNECTING 
 END ARM-BACK 

1 6 7 
8 

DRIVER SIDE ARMS PASSENGER SIDE ARMS 

12. SHOCK ABSORBER 



A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

TOP BAR  ASSEMBLY-PARTS, ARMS and CONNECTIONS 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 

CONNECTING 2 CONNECTING 1 

CONNECTING 1 
ARM to MOUNTING  
PLATE 

CONNECTING 2 
AND ARM to  
MIDDLE ARM 

2. DRIVER 
 END ARM 

3. DRIVER  
MIDDLE ARM 

5. PASSENGER 
 END ARM 

4. PASSENGER 
 MIDDLE ARM 

CONNECTING 1 
ARM to MOUNTING  
PLATE 

CONNECTING 2 
AND ARM to  
MIDDLE ARM 

6d 

6d 

P1-PIN-7’’ LG 

P2-PIN 4-1/2’’LG 

6f 

7 

PLASTIC WASHER 



A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 

ITEM Description 

6 TROLLEY ASSEMBLY (CURVED) ASSEMBLY-VD3T-C   

6a TROLEY BRACKET 

6b UHMW TROLLEY ROLLER w/WASHER and RING 

6c GUIDE ROLLER ASSEMBLY IDLE ROLLER 

6d UHMW BUSHING 

6e COLLAR 

6f UHMW BUSHING 

6b 6b 

6a 

6ba 

6bb 

6c 

6d 

6e 



ITEM                    Description PART No. QTY. 

1 TOP BAR ASSEMBLY  (Top Bar w/Trolleys, Shock, Cylinders, Mounting 
Plates, Less Vinyl)  

VD3B1007 1 

- 
2 

2a 
2b 
3 

3a 
3b 

DRIVER SIDE  ARM ASSEMBLY 
DRIVER SIDE  END ARM  
CONNECTING DRIVER  END PLATE-FRONT 
CONNECTING DRIVER  END PLATE-BACK 
DRIVER SIDE  MIDDLE ARM  
CONNECTING DRIVER MIDDLE PLATE-FRONT 
CONNECTING DRIVER MIDDLE PLATE-BACK 

VD3MD 
VD3MDE1206 
VD3H-250x28 
VD3H-125x25 
VD3MDM1206 
VD3H-250x28 
VD3H-125x35 

1 
1 
1 
1 
1 
1 
1 

- 
4 

4a 
4b 
5 

5a 
5b 

PASSENGER  SIDE  ARM ASSEMBLY 
PASSENGER SIDE  END ARM  
CONNECTING PASSENGER  END PLATE-FRONT 
CONNECTING PASSENGER END PLATE-BACK 
PASSENGER SIDE  MIDDLE ARM  
CONNECTING PASSENGER MIDDLE PLATE-FRONT 
CONNECTING PASSENGER MIDDLE PLATE-BACK 

VD3MP 
VD3MPE1206 
VD3H-250x28 
VD3H-125x25 
VD3MPM1206 
VD3H-250x28 
VD3H-125x25 

1 
1 
1 
1 
1 
1 
1 

6 
6a 
6b 

 
6c 
 
 

6d 
6e 
6f 

TROLLEY ASSEMBLY (CURVED) ASSEMBLY 
TROLEY BRACKET 
UHMW TROLLEY ROLLER w/WASHER and  
-SNAP RING 
GUIDE ROLLER ASSEMBLY 
-IDLE ROLLER 
-SHOLDER BOLT 3/8’’-16x2’’LG 
UHMW BUSHING                                                                                                              VD31-UHMW
COLLAR                                                                                                                               VD3L-34X125
UHMW BUSHING                                                                                                              VD32-UHMW

VD3T-C   
VD3TB 

VD3T-C-UHMW 
WD3T1 
VD3TG 

2 
2 
8 
4 

2 sets 
2 sets 

2 
8
2 
2

7 AIR CYLINDER SET  US-1760 2 

8 SHOCK ASSEMBLY SET 
-Shock Absorber (w/two UHMW Bushings 3/8”I.D.)                                                               WA1FA
-Pin 3/8”x3”LG                                                                                                                           TB1AEA
-Collar 3/8                                                                                                                                   WA1FC

 2 
2 
2 
2 

9 LEGS VD3A 2 

10 
 
 

10a 
10b 

UHMW ANGLE– 3’’x3’’x#1/2x96’’LG for Folding Vinyl Door 
-CLOTH    (CARPET STRIPS 18’’ Wx90’’ LG) 
Spacer between Plastic Angle and Arm 
   Vinyl Curtain  36” W x 92” Lg. x 120” Thick, Clear (POLYVINYLCLORIDE) 
   Vinyl Curtain  12” W x 92” Lg. x 120” Thick, Clear (POLYVINYLCLORIDE) 
      - Screw Hex Head Cap 3/8”-16x1-1/4” LG SS 
      - Hex Nut 3/8” - 16 SS 
      - Nylon  Hex  Head Cap Screw 1/4” - 20 x 1—1/4” LG 
      - Nylon Hex Nut 1/4” - 20 
      - Flat Washer ( UHMW ) 1/4” I.D. x 2” O.D. 

VD3N3x3 
VD3NC1 

 
VD3V36 
VD3V12 

HHCS3816150 
HN3816 

HHCSNY1420150
PHN1420 

PFW14200P 

2 
2 
 

4 
2 

16 
16 
60 
60 
98 

A.V.W. Equipment Co. Inc. 105 South 9th Avenue, Maywood, IL, 60153 
Phone: 708-343-7738 Fax: 708-343-9065 email: info@avwequipment.com Website: www.avwequipment.com 

FOLDING VINYL CURTAIN, MODEL VD1206-1923 




